MHF4U — Teét: Trigonometric Functions Practice Test

Name: 50 s MS Mark: - - -
KU APP TIPS
1. - a) Determine the exact values of se¢ and tan 9 (as a fraction), if /9 isa quadrant 2 angle
and the point P(x,24) is exactly 25 units from the origin and lies on the terminal arm of £.3.
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_b) Détermine thé value of Z$ in radians rounded to the nearest hundredth. [APP /2]
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2. Deter-mine the arc :leiig'Th needed to conSf_ruct an 'ahgle of 1.46 radians on a circle with a radius
" equalto'4.5 cm? [APP/2] ' S S ‘
- Ty erc ey 87T
- R '-,--‘.-,_‘ . ) a' - 4
S f‘wlf_\"é ; R
a

gl = % —
T s

3. If —108° is coterminal to £ & . Determine the principal angle in radian measure. (Note:
express as a fraction of 7 ) [KU3] :
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4. Determine two angles (one positive, one negative) that are coterminal to each of the following.
(Note: express in same units as original) [KU4] ‘
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Fvaluate each of the following using special triangles. (Note: NO DECIMALS ALLOWED,
simplify fully for full marks) [A /4]
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7. Determine the value(s) of x for each of the following. Consider 27r Sx<27. [/\.PP /6]
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8. Defermine each of the following for the following function. y= —l-sm[ (x - ——)}

[KU /4]
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9. A) Sketch and fully label one cycle of both functions y = cosx and y= —cos(—;—x - -;j +2on the

graph below. [A5] é
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State the Domam Range and period of the transformed function y = c,os(%x —E) +2 [KU/3]
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10. State the period, amplitude of the following trigonometric functions. Then use this information to
write the equation of the function. (Note: Assume no phase shifl present) [TIPS/3]
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11. A carnival Ferris wheel with a radius of 9.5 m rotates once every 22 seconds. The bottom of the
whee] is located 1.5 m above the ground.
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A) Determine the equallon of the function that represents a rider’s height above the ground, in metres
as a function of time, in seconds if the rider starts at a point 11 m above the ground and initially
moves in an downward direction. [4] k= 27T
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B) Determine the height of the rider exactly 1 minute into the ride. Is the rider rising or falling at this

point in time? [2] m s
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C) Riders can see Niagara Falls if they are higher than 19 m above the groﬁnd Determine the time
intervals within the first 60 seconds that the rider can see the Falls (This is tricky!!! Caution:

CAST Rule!)[4] 19 = -4.5 sim (frr/u%)* i e C,:Ls:em +alls
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